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Ventilation through a housing estate is a means for reducing energy consumption of the housing
estate. Since a good ventilation system can assist the reduce of temperature of house, the using
refrigerator of each house is decreased. The objectives of this research are to investigate natural
ventilation and examine temperature distribution in a housing estate in Bangkok using
Computational Fluid Dynamics (CFD). The houses which dimension of 7x12 m are arranged
alignment and stagger line are used in this simulation. The average air velocity of Bangkok is used
as inlet air velocity for a housing estate. The result of simulation revealed that the average air
velocity between houses of alignment is approximately 0.8 m/s while the average air velocity
between houses of staggered line is approximately 0.4 ny/s. For air velocity behind the house, it is
found that the air velocity of staggered line is higher than that of alignment because the dead zone is
occurred in alignment. The temperature distribution of staggered line is quite uniform while the
temperature distribution behind the house of alignment is high and temperature distribution between

the house of alignment 1s low.





